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ABSTRACT

The mathematical model of the depth of burying of underground water of the Peop-
le’s Vietory Channel, and its automatic control systems are proposed in this paper.
Optimal irrigation strategy is determined according to multiple obJjective grey decision-
making from the three goals, 1.e. ‘‘proper irrigation time’’, ‘‘prevention of alkalifica-
tion’’. and ‘‘economy’’. Practice proves that gains and effects of this strategy are satis-
factory. State of underground water level within a year is excellent, and burying level
is deeper. It is an optimal control system for the depth of burying of underground
water.



